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1 BENAREERKRRE(T6—1)—#B%K (CER264E )
A E R E AR
SpE | Bk | ENR | BR2| BB BAT| BRAD | BRAL | misx
R 5 | sgEm | 2pay | Do ® BRE | R K| Hof | ELO [ S0OB | ZRE | KEE
%) | EMH | ) |pEK| (0 |BoT| B |brE|EcH| X
>-F
BB 68549 5,163| 1,248 7.5 602| 11.7| 518/ 86.0 32 6 -| 480 67 17
ZARRAMW| 40,161 2,026| 549 5.0 120 5.9 103 85.8 4 2 - 97 - 17
WiBH 11,856 1,570 362 13.2 270 17.2| 219 81.1 6 4 - 209 51 -
+ i T 16,532 1,567| 337 9.5 212| 135 196 925 22 - -l 174 16 -
BENAREERRR(T6—1—1)—(5B) (FERR265EE)
B E R E R
=i ZRE | ZRR | ZRR | BRZ| B BAT| BAD | NALL| ik
R 7 | NEREH | ZREH E = ZRE|R ¥ || B | SNOE | Z2E | R IEBE
%) | B | % |pEH| (W |BoT| B |bou|HTH| X
>f-&
BERBE| 23485 1,967| 439 8.4 298|  15.1 256|  85.9 7 5 -| 244 32 10
ZBRM| 12,852 766 190 6.0 55 7.2 45| 818 1 2 - 42 - 10
R ™ 4,485 649| 140 14.5 129 19.9 110 85.3 2 3 - 105 19 -
+ ik 6,148 552| 109 9.0 114| 20.7| 101 88.6 4 - - 97 13 -
BENAREERBRR(T6—1—2) — (%K) (FER264EE)
A E R ERE
g | ZPE | BWR | MR MRR) MR BRAT[ BAD [ AL | ik
R 2 | XNEEH | 2REH o i 3 ZRE|R B |bof- | BV | SN0E | ZRE | RIEE
%) | B | ) |pE%| 0 |BoT| B |brE|EcH| X
o>-F
ERBHK| 45064 3,196| 809 7.1 304 95| 262| 86.2 25 1 -| 236 35 7
ZAaRW| 27,309 1,260 359 46 65 5.2 58| 89.2 3 - - 55 -
iR H 7,371 921| 222 12.5 141 153| 109 77.3 4 1 - 104 32 -
+ ik T 10,384 1,015 228 9.8 98 9.7 95| 96.9 18 - - 77 3 -
2 ABHAREEBRR(T6—2)— (B%) (CER264F )
A E R E AR
SpE | Bk | ENR | BR2| BB BAT| BRAD | BRAL | misx
R 5 | sgEm | 2pay | oo ® BRE | R K| Hof | ELO [ S0OB | ZRE | KEE
%) | EMH | ) |pEK| (0 |BoT| B |brE|ETH| X
of-&
BB 68549 8,542| 2,267 12.5 581 6.8 436 75.0| 143 13 -| 280 94 51
ZARAM| 40,161 3,559 1,270 8.9 211 5.9 161 76.3 44 8 - 109 - 50
WiBH 11,856 2,370| 499 20.0 180 76| 122| 678 45 3 - 74 57
+ ik T 16,532 2,613| 498 15.8 190 73| 153| 805 54 2 - 97 37 -
KENAREEMKR(T6—2—1)—(B) (264 E)
B E R ERER
g | ZOE | ERE | BHR RRE | WA BRAT[ BAD [ FALL | ik
R 7 | HNEREH | ZREY E = ZRE|R ¥ | o | B | SN0E | Z2E | R EBE
%) | EM | % |pEH| (W |BoT| B |bou|HTH| X
>f-&
BERBE| 23485 3,040| 819 12.9 256 84| 180| 703 38 8 -| 134 47 29
ZBaRM| 12,852 1,218| 452 9.5 95 7.8 67 70.5 12 4 - 51 - 28
R ™ 4,485 913| 182 20.4 83 9.1 54 65.1 12 3 - 39 28
+ ik T 6,148 909| 185 14.8 78 8.6 59 75.6 14 1 - 44 19 -
KENABREEBRR(T6—2—2)— (X CERL265EE)
A E B E KR
SPE | ERR | E8R | B8RS | BB BAT|BAD | BAL | miax
R 5 | sean | 2pEn | Do ® BRE | R K| Hof | BV [ S0OB | ZDE | KEE
%) | B | ) |pEHK| (0 |BoT| B |brE|EchH| X
o1&
BEREBH| 45064 5,502| 1,448 12.2 325 59| 256 78.8| 105 5 -| 146 47 22
ZHAM 27,309 2,341| 818 8.6 116 5.0 94 81.0 32 4 - 58 - 22
BWiBH 7,371 1,457 317 19.8 97 6.7 68 70.1 33 - - 35 29 -
+ ik T 10,384 1,704 313 16.4 112 6.6 94| 839 40 1 - 53 18 -




3 MiAABREEERSR (T6—3) — (BE)

<BEBIVHORERE> (264 )
#z Bk E R R
=8 ZRE | ERR | EFER R NAD | BALL | Bk
X 5 | H&ESHR EH e = ZROE - | BULD | A0 E | 2E | RIBE
- (%) (%) (%) |3 HoE|BETH|
~>-&
TRBHK| 11,856 1,588 597 13.4 7.2 85.1 2 67 15 2
E 2=t = - - - - - - - - -
ImiBH 11,856 1,588 597 134 7.2 85.1 2 67 15 2
+ ik - - - - — — —
%1 ﬂ&%ﬂﬂﬂ?"ﬁﬁéﬁﬁt&?)brz%‘éﬁt
<BFIVvIRBRERUERMREZ > = (2645 E)
= g
=18 SRE | ERR | ZRR R HNAD | BALL | Bk
R 7 | XNEEH | 2REH e = ZEOE = | BLD | 5B | 2RE | RIBEE
X (%) (%) (%) b |EThH| X
>1-F
EREH 217 49 13 22.6 - - - - - -
%iﬁﬁfﬁ - - - - - - - - - —
R ™ 217 49| 13 22.6 - - - - - -
:I:ll&fﬁ - - - - — — —
%2 Hﬂ“BIJ7Zﬁ1§§&lﬂ"@%ﬂﬂﬂ”ﬁ§§'&'ﬁ?%(ﬁ%)
X3 BRMARZICIIEBREER
ARARZEERR(T6—8—1)—(B)
<BEBIYIRBERE> (2645 E)
T T & B
=8 RUEX | EFRR | ERR RER 3| BAD | AL Ik
R 9 | NREM | 2BER | g £ ZBE - | BV | 0B | ZBE | KiEE
- (%) (%) (%) o3& |Ech|
>1=-F
ERALH 4,485 664| 226 14.8 8.4 83.9 2 34 7 2
ZARRM - - = = = - - - - -
BEH 4,485 664| 226 14.8 8.4 83.9 2 34 7 2
T i - - = - - - =
%1 E#ﬁ%ﬂﬂﬂf"ﬁﬁﬂ#ﬁt&?)bfz%&ﬁt
<BHIvIRBRERUERME > (FER264EE)
T &K B
=8 RUE | EFER | EER Eit:] BAD | BALL | ik
R 2 | d&EHK SE M e -3 REE - | BUL\D | DB | ZEE | RIBE
% (%) (%) (%) |3 bhoE | ETch|
>1=-F
ERELE 207 a4 11 21.3 - - - - - -
%ié.‘ﬁ?ﬁ - - = = = - - - - -
R ™ 207 a4 11 21.3 - - - - - -
:I:II&FH - - - - - - -
%2 H@%Iszﬁﬁﬁmﬂzﬁmﬂ Aﬁﬁ?ﬁ’)%(ﬁ#%)
X3 BRMARZICKIIEBREER
RABREEBRR(T6—8—2) — (%)
<BFIvIRERE> (FERR264EEE)
T & B
=8 RUEX | EFER | ERER it BAD | BALL | Eigk
R 2 | dREHK =¥ E b3 REE - | LD | OB | ZRE | RIEBE
- (%) (%) (%) |3 hoE|ETch|
>1=-&
EREREK 7,371 924 371 12.5 6.3 86.2 - 33 8 -
ZARRM - - = = = - - - - -
HEBEW 7,371 924 371 12.5 6.3 86.2 - 33 8 -
+ iz T - - - - - - -
%1 ﬂﬁ%%ﬂ]ﬂﬂ”#ﬁﬁéﬁﬁt&?)bfz%"éﬁt
<BFIvIRBRERUERMERE — (ER264EHE)
a 3
=i8 RUE | EFER | EfER b3t RAD | BRALL | gk
X o | HEY | REEH aE ZH i3 REE - | BV | NOR | ZE | RIBE
%) | X (%) (%) |5 hoE | ETh|
>1=-F
EREH 10 5 2 50.0 - - - - - -
%J‘:.‘EFH - - - - - - - - - -
WRT™ 10 5 2 50.0 - - - - - -
:I:II&FH - - - - - - - -
%2 Hﬁa“BIJbzﬁﬁﬁmﬁﬂgﬁﬂﬂﬂwﬁﬁﬁa‘/‘%(ﬁ%)

X3 BRMRZICLIERRESER




4 FEENARBEERSR(T6—4)

(ERL265E )
ZEEH BERERER
BUE | BNR | ENG | ARE | A8 oom | TAEY| mas
. : =]
R 4 |sesEx| o= WIERE | 26Es % SpE | B % | BAT |CINSRIZ| oo | oivie |BERR| |\ppz | ON¥E | 2% | xinE

=5 E7% A _ _ 591': AIS’C“& . . _C“E 1= %O)ﬁ%
ZEEH %E RBER ZBEH| (%) e %) |BEZ| (%) |BHT| = T:%o Hot1=F | Hof=F %? %EXE%* ot | X

&
FALH 54,319 4,756 1,462 6,321 37 20.3 58 1.2 47 81.0 17 3 2 7 6 1 2 8 4 7
ZARRT 32,958 2,482 762 2,972 1 16.5 317 1.5 31 83.8 14 2 2 4 1 1 - 1 5
WmoR 8,920 962 291 1,336 23 25.5 8 0.8 4 50.0 - 1 - - 2 - 1 - 3 1
x ik h 12,441 1,312 409 2,013 13 26.6 13 1.0 12 92.3 3 - - - - - - 8 - 1

XKELR= ( [MMEEOZDER + TYREEOZRER — MMEERVCYUHEEICKIT 5 2 FEiEZ2ER ) + ILUEEEOXNFER X100

5 AMNABRBEERRR(T6—5)
<TUERGTSV148AAFRK> (ERL264EEE)

E % B & & &
SERE BIEE | 24EE | 2RE | IBR | ZER | BRS | BR P
HHE |HeEN| 2REkl BB |2REk|zoEn S SpE| 2 % | savc gf‘(g 3;;%;5; BLE | RINE
ME %) | E# | % |BER| % | BoF |5oF| Lrx |porzm| B
TR | 45,064 5,138 1,220 6,410 114 25.4 360 7.0 333 92.5 179 17 1 136 19 8
ZRRAM| 27,309 2,406 569 3,184 4 20.5 172 7.1 162 94.2 71 8 - 83 2 8
R 7,371 1,185 279 1,348 32 33.9 80 6.8 71 88.8 46 4 1 20 9 -
+ ik 10,384 1,547 372 1,878 78 32.2 108 7.0 100 92.6 62 5 - 33 8 -
<IVETS74DH > (FERE264ERE)
B e R E R B
SEE WIS |28 | 2% | SHR | ZER | BRZ | BR sk
HHTZ |HeEsk 2REk BS [SnEy|2viEx %= FyE| R % | pac gf(g g;;{gt SPE | RiNE
#E %) | EB® | % |BEH| % | BOT |BNE| poa |porm| H
EREH - - - - - - - - - - - - - - - -
£BRH - - - - - - - - - - - - - - - -
R - - - - - - - - - - - - - - - -
+ g - - _ - - - _ - - _ - _ - - _ -

KELR= ( [MMEEOZDER + TYREEOZRER] — MMEERVUBEEICKIT S 2 FEiEZ2ER ) + ILUBEEOXNFER X100




6 HEAKSE-

BHEBEREEBENKT(T6—6)

(ERR264EEE)
w A K B B B
-
=7  S——— P aF e
403 | 508 | 602 | 70% | 408 | 508 | 60 | 70% | 3 i
BEANLH 874 76 65 84 40 194 184 176 55 663 64 147
ZART 322 21 20 34 3 81 83 78 2 256 15 51
IR ™ 317 35 21 25 15 76 56 58 31 229 25 63
T g 235 20 24 25 22 37 45 40 22 178 24 33
EHEEE R 2
B & |22EK = = .
(%) minE fEE RERBHT
BEREH 105 22 75
ZARR™ 105 22 75
iR - - - -
T g™ - - - -
7 FRVMIVARBZERRR <SB#®RE> (T6—7)
(FERR264ERE)
mB®E CEIFRDER BRI RDER
CE! FF# BEIRF % RRETREMEA B E
o WNRER | SLEY SUE |ZLES X wed | uze| iR B5 1% B
(%) (%) 3 (%) (%)
EREHK 3,227 331 10.3 330 10.2 1 - 1 0.3 2 0.6
ZAaRT 1,860 148 8.0 148 8.0 1 - 1 0.7 2 14
IRE™ 515 99 19.2 98| 19.0 - - - - - -
+ ik h 852 84 9.9 84 9.9 - - - - - -
FROIINABREERERRE<TENEEZ > (T6—7—1)
ilER Y £ CEFFRDER BEFF X DFER
CEUPT % |BRUFF % B R A ELE
g O BRR& mak| o |mew
BUEY | RBEH| ¥ ¥ %
ZRER |ZEER| HED | HED + (%) (%)
A1 ~A448% 2 2 - - - - - -
45~495% 143 143 - - - - - -
50~545% 93 92 - - - - - -
55~595% 196 195 - - - - - -
60~64%E 134 133 - - - - - -
65~69%8 380 377 - - - - 4 1.1
70 Ll £ 243 242 - - - - 1 0.4
Bt 1,191 1,184 - - - = 5 0.4




8 REEFIR3Z(T- iR ARAREE - RAEHIE(T6—8)

(CERL265ERE)
REFIRIZHER B B B % o = B K &
K 4 1 = = i 3 L] i
40m~ |15mLlE| BAfE (EAB| & I E | BEEYEE | # R & AR BHEERE | THEORE m R Al
7458 [E1 3% E% [EAS| B (EAS| B EAE B EAS| B% EAS| B [EAS| B% |EAS
ERRE 48 -| _181] 1,853 = - - - - - 2 3 2| 50 - T 1| 42
Rt 0 - 55 1,480 - - - - - - — - _ _ _ _ _ _
5t R 4 -| 39 183 - - - - - - - - - _ _ 0 1l a2
T B h 44 - 87| 190 - - - - - - 2 3 2| 50 - - - -
& RO RER R
B 4 0o R A BEedlEoERERR
EIE- EAE E# EAS
BERBH 166 1,758 - =
ZaRh 55 1,480 - -
B R 28 141 - -
T Ik h 83 137 - -

o EA-EHAREHE(T6—9)

(ER265EHE)
BEBRRERESRET OX KRR
X & Hi - IEER
(EAE) =MmE prrped PERR| B 1E
BERkH 20 - - - 20
gaRMm 20 - - - 20
s ;B - - - - -
+ i = - - - -
CERL264EE)
£ H # FE & ¥ O £ B K R
X 4 & WEKE | B EIME |meemascon)| i/ B A E- -
Bt | &= /n | BAE (S In| BiE (£ | BAfE (S in| BHE (&S tn| BAME (S 0| BHEE |3 Mo
BE#H |EAS | BH |EAE| B [EAS| B# |(EAR| O |EAR| BH |EAE| E% |EAS
BERNELH 228| 4,728 38| 382 - - - - 24| 568 - -| 166| 3,778
Z2aR™ 55| 1,480 4 57 - - - - 24| 568 - - 27| 855
IR B ™ 50 570 29| 285 - - - - - - - - 21| 285
T ik 123| 2,678 5 40 - - - - - - - -| 118] 2,638
10 SREEEEKR(T6—10)
(CERL265EEE)
R mee B-EYE
EirE = | i ) . SBANE
X & BEE| VTP | = |ORRSERE| REHRE ZDith
BE  |wa=| op |FEE| B (Ei8) @m | OF
- N | 275 - - - - - - - -
BERBHK EAR T — - - - — — — —
& =AB 69 - - - - - - - -
ZART AR 59 — — — — — — - -
w s EAE 206 - - - - - - - -
B EAR 230 — — — — — — - -
=AB - - - - - - - - -
T ik EAR — — — — — — — - -




